
MATE 3032assignment5: sections7.3,7.5,7.8

31-32. Choosetwo of exercise4–22 p.491, involving two different types of substitu-
tion. Solveeachfollowing exactlythestepsshownin CC10.Do not substituteyour
ownstyle.

33. Evaluate:

(a) ∫
2

−1

3xe
1 + xe

dx

(b) ∫
π/2

π/4

cosθ tanθ
cscθ

dθ

(c) ∫
π/2

−π/2
θ 2sin θ cosθ dθ .

34. Exercise84p.508.

35-36Determinewhethertheintegralconvergesor diverges.You arenotrequiredtoevaluatethe
integral;usethecomparisonprinciplewhereappropriate.

35.

(a) ∫
∞
1

1
√x + x

dx

(b) ∫
∞
1

2x + 1
√ 4x + x

dx

(c) ∫
0

−∞
1

4x − 3
dx

36.

(a) ∫
∞
0

2cosx dx

(b) ∫
∞
0

arctanx
1 + x

dx

37-39. Exercises61,71,78pp.535-536.


